SOCG (GEN)-03

West Bengal State University
B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2015

PART - 11
SOCIOLOGY — GENERAL
Paper ~ III

( New Syllabus and Old Syllabus )
"Duration : 3 Hours | | Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.

T JYPTEA fAe SrETy e g
AT WA (AT (T |

( New Syllabus )

GROUP - A
fesre - =
1. Answer any one of the following questions (within 1000 words) : I x15=15
frsferfs (@ e w3fb eterr 63 fm (vooo *1rara WD)
a) Define village, town & city separately. Explain how villages and towns are

economically interdependent on each other.
g, *TY 9 VAT *UF R 71 g qR el o @ e

FrSiae Wy, © I IFF|

b) What are the causes of population explosion in India.
SRGA FARTTRTR IRl & i 2
2. Answer any one question from the following (within 400 words) 1x5=35
frsfafes (@ com wafh ez $ex ffm (8oo =rrara wm) ¢
a) Write a note on village population composition.
I T RAneie o @3l B e
[SUB-B.A.(GEN) 80CG-6104] [ Turn over
— — P R




SOCG (GEN)-03 2

b) 'In India, urban social mobility is more than rural social mobility." Give
reasons.
‘SRS AR AN FHeT0 @D ST, AFTOR G T IR o=
‘GROUP - B
fretet - 9
3. Answer any one question from the following (within 1000 words) : 1x15 =15

fFafefes  @m oot e Ted /T (Yooo == T) ¢

a) What are the sources of diversities in India in respect of language, caste,
religion and culture ?
SIS AT SIS, Tfers, ¢ ¢ AFfon cwra o Sear @ 2
b) Discuss about domestic violence of women in contemporary India.
FAPTNE SRS AT fren <R R Fier, o e w3
4. Answer any one question from the following (within 400 wordsj : 1x5 =5

e @ W 9o e B3 R (8oo = wuyy) ¢

a)

b)

Who are Dalits ? How are they economically and socially exploited in
India ?

wfTe FE @ W 7 SRR o e wdtafer wae sfee e
oS 2

Discuss the way of development of national identity in post-independent

India.

FHEET T ey #fey [erm e e 9 |
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GROUP - C
fstat = o
S. Answer any one question from the following (within 1000 words) : 1x15 =15

fFafefs ar em e aerg Beg Ww (yooo =it Sy @

a) How is 'Jati' different from 'Varna' ? What are the features of Indian caste
system.
fo o ‘@S "3l (U@ YT ? SO e IR Rl o

b) Distinguish between the joint family and the nuclear family. Discuss
about major social legislations of marriage in Indian society. 7+8
@y ofRm @R @FF Rawe o Cdw e 3 orS e Rar
AT YU ARG ARAS SFABA I |

6. Answer any one question from the following (within 400 words) I1x5 =5
frfeie @ @F «3ft o o3 fiw (800 1w W) ¢
a) What is Sanskritization ? What are main features of Sanskritization ?

SAegord & 2 @3 o1 RFReR SEna s

b) What are the roles of religion in Indian society ?

RO e 4o G o o 2

GROUP -D
festst - g
7. Answer any one question from the following (within 1000 words) 1x15 =15
REfRS (@ FF w6 ot a3 i (ooo 1w W)
a) Discuss the role of Panchayat system in rural development of West

Bengal
AT AN BARSTS PTG AT G AT % |

[SUB-B.A.[GEN) 8OCG-6104] [ Turn over




SOCG (GEN)-03 4

b) What is regionalism ? How do culture and language influence in the

development of regionalism ?

e &2 oral 3t wgfe e wskeeie eofie w0 2
8. Answer any one question from the following (within 400 words) 1x5 =5
fefofie @ oM «af® AR Tea i (oo =z wam)

. a) What do you mean by civil society ? What are the influences of civil

society organizations in contemporary India ?.
e TG 306 6 QARA 2 AT SRS P AN Aslenahr oeR
2

b) What is globalization ? Write about the effects of globalization in Indian

.society,

e 5 7 SRSy e Regrare erom T |

GROUP - E
faetet - ¢

9. Answer any ten questions from the following (within 50 words each) .
10x2 =20

e @ cem v erm Ten 7 (afSlh ¢o W) ¢

a) What is Sex-ratio ?
ferss-wrgeirs 6 2

b) Write two ways of population control. )
TR AT 6 Seity T

c) Differentiate between hypergamy and hypogamy.

SR ¢ gfory R s ondw [t s
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d)

g)

h)

i)

j)

k)

)

5
What do you mean by matriarchal family ?
TG R s 6 QIR 2

Define kinship
ey siee i |

Define class.

Q@R w5

Mention any two bases of unity in India.

SRS (3 FH 5 S B Sy vw
Write two features of Indian Tribe,
SRS Borenfox qfl PRy B |

What is meant by Westernization ?
SPETSNER 1o 6 @Ry 2

Define scheduled caste.

SRR Tnifex e fae |

What is meant by women trafficking ?
What do you mean by Institution ?
Ao Fo1S & @I 2

Differentiate between caste and class.
G @ (T ey oneI o % |

Write two elements of Indian culture,

SRS eFfex 4o Gommm o
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